CLASS: VIII
DAILY ASSIGNMENT-5
DATE: 24. 04. 2020
SUBJECT: ENGLISH
Multiple Choice questions
TOPIC: UNSEEN PASSAGE

Read the poem carefully and choose the correct option:
The word of a king can slay or spare.
The word of a clown can gladden.
The word of a friend can comfort and share.
The word of a foe can sadden.
The word of God creates a world.
Of firmament, land and sea;

The word of my mouth,

Shapes my life,
And so creates me.

-Paul King
Questions:

1. Whose words are important as they give us comfort?
a) aking’s words
b) a foe’s words
c) aclown’s words
d) a friend’s words

2. The word of our mouth is important because:
a) It shapes our life.
b) It makes us famous.
c) It helps us progress in life.
d) It helps us recognize in the world

3. Whose words can sadden us?
a) A friend’s words
b) A king’s words
c) A foe’s words
d) A clown’s words



4. The abstract noun of the verb ‘create’ is:
a) Creating
b) Creation
c) Created
d) Creator

5. The similar word for ‘foe’ is
a) Mother
b) Cousin
c) Enemy
d) King

SUBJECT: COMPUTER
Multiple choice questions:

1. Which of the input device consists of a photo sensor which can detect light and enables us
to draw a picture directly on the screen?

a) Mouse

b) Keyboard

c) Light pen

d) Scanner

2. The component which receives data and instructions from the input devices in a high level
language and passes it to the CPU for processing are known as:

a) Secondary storage device

b) Input device

c) CPU (Central processing unit)

d) Output device

3. 1024 bytes is equal to:
a) 1 kilobyte

b) 1 megabyte

c) 1 gigabyte

d) 1 terabyte

4. In which of the following topology every devices is connected to another devices via
particular channel?

a) Mesh

b) Ring

c) Bus

d) Hybrid

5. Which of the following are the set of machine readable instructions that directs a processor
to perform specific operations?

a) Computer software

b) Accessories

c) Peripherals

d) Main components



SUBJECT: MATHS

Multiple choice questions:

£2000 4 1999
1. The value of p is
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2. Simplify : (i_b)(ﬂz"' b%+ab) X (::_c)(b2+ c?+ch) X (;‘_a)(c2+ a’+ ca)

a) (a?+b®+c?)
b) (a+b+c)
c) (a+b+c)
d 1
3. Ifa*=bY=c? and ¢ = b?a, then ‘z’ equals
xy
a)
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4. 1£7x\T x 72x 752 = 73*2 then the value of a is
a) 4
b) 3
c) 2
d) 1
5. The value of x + x(x*) when x =3, is
a) 85
b) 84
c) 80
d) 81

c)



SUBJECT: PHYSICS
Multiple choice questions:
1. Atmospheric pressure is at all places.

a. notsame
b. same
c. keep increasing
d. Kkeep decreasing
2. A footballer kicking a football is an example of
a. Electrostatic force
b. Pressure
c. Force of friction
d. Magnetic force
3. Which of the following is not an example of muscular force?
a. A porter carrying a load on a wheel —barrow
b. A child riding a bicycle
c. An apple falling from a tree
d. A person drawing water from a well
4. A pressure of 10 kPa acts on an area of 0.3 m? . The force acting on the area will be:
a. 3000 N
b. 30N
c. 3N
d. 300N
5. The ball rolling on the ground is an example of
a. Gravitational force
b. Electrostatic force
c. Non- contact force
d. Contact force

SUBJECT: CHEMISTRY

Multiple choice questions:

1. Plastics are :-
A) cheaper
B) durable
C) nonreactive
D) all the above

2. Like synthetic fibres, plastic is also a
A) Polyester.
B) Fibre.
C) Polymer.
D) Polythene.



3. We should not wear synthetic clothes while working in the kitchen or in a laboratory
because
A) Synthetic clothes are very costly.
B) Stain on synthetic clothes are hard to clean /wash.
C) If the synthetic clothes catch fire, the fabric melts and sticks to the body of the
person wearing it.
D) Both A and B.

4. Which of the below set of fibres are example of thermoplastics?
A) Polythene and Melamine.
B) Melamine and PVC.
C) Polythene and PVC.
D) Melamine and Bakelite.

5. Which of the following is not a characteristic of synthetic fibers?
A) Synthetic fibers are very durable
B) Synthetic fibers absorb very little water.
C) Synthetic fibers are wrinkle resistant
D) Synthetic fibers are extremely thick and strong.

SUBJECT: BIOLOGY

Multiple choice questions:

1. What factors are responsible for increased crop production in India?

(a) Use of improved seeds develop by plant breeding and scientific methods
(b) Protection of plants against pests and better storage

(c) Control of plant diseases

(d) All of these

2. Which one of the following is a correct match?

a) Rabi-Sowing (June-July), harvesting (September-October)
b) Kharif-Sowing (June-July), harvesting (September-October)
¢) Rabi-Sowing (October-December), harvesting (June-July)
d) Both (b) and (c)

3. Crop rotation is performed to:

(a) Improve the fertility of soil

(b) Save nitrogenous fertilizers

(c) Help in weed control and pest control
(d) All of these

4. Pesticides are chemical substances that control pests. They include :
(a) Herbicides and insecticides

(b) Insecticides only

(c) Insecticides and rodenticides

(d) Fungicides, herbicides, insecticides and rodenticides



5. Which of the following condition is not essential to grow maize?
(a) High temperature
(b) Rainfall
(c) Humidity
(d) Low Temperature
SUBJECT- CIVICS

Multiple choice questions:

1. Who was known as the father of the Indian Constitution?

A.) Mahatma Gandhi
B.) Jawaharlal Nehru
C.) B.R. Ambedkar
D.) Lala Lajpat Rai
. Which one of the following refers to an introduction in which the purpose of the
Constitution is given?
A) Preamble
B) Fundamental Rights
C) Directive Principles
D) Fundamental Duties
. Which one of the following is/ are the feature (s) of our Constitution?
A) A detailed written Constitution
B) Amending Procedure
C) Federalism
D) All of these
. Which one of the following refers to the country free from external control?
A) Sovereign
B) Republic
C) Socialist
D) Secular
India has government at the state and at the centre that shows that it has
A) a secular system of government
B) afederal system of government
C) democracy
D) socialism

SUBJECT: GEOGRAPHY

Multiple choice questions:

1. These resources get renewed or replenished quickly after use are
a. Exhaustible Resources
b. Non — Renewable Resources
c. Renewable Resources
d. Human Resources



. The resources around us may not be fully utilized everywhere due to lack of
technology are :
a. Localized Resources
b. Actual Resources
c. Potential Resources
d. Useful Resources
Different ways to conserve natural resources are : (select incorrect one).
a. Preventing wastage
b. Save Water
c. Deforestation
d. Afforestation

. The Earth summit in 1992 held at

a. Rio+20
b. Rio de Janerio
c. Africa

d. Johannesburg
Factors which help in the development of resources are :
a. Human Resources
b. Technology
c. Conservation
d. All of these.
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